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Remark: Answers to the followmg Enghsh questions can be written in either Chmese
or English,

3. Individuals work together through organization which many devices and mechanisms
among persons are so arranged that their cooperation and activities can be effective
and efficient. The Internet and e-commerce are powerful tools for business
development and have great impacts on management practices and structures of their
organizations. Nowadays, companies (organizations) may cooperate with each other
through building an alliance, which can be called a "superorganization” (i.e., an
organization of organizations).or many other names (such as "network" or "supply
chain"). Thanks to the advarces of information technology, the interorgnizational
alliances can obtain big advantages in efficiency.and win their markets,.

(a).List and describe the main issues a compény has to address when she' design her
own company's organization for better effectiveness and efficiency.” (13%)

(b) List and describe the majdr problems a central corhpany (the leader-of an alliance)
has to deal with when she design her superorgamzatmn to compete ina turbulent
environment. (12%) '

4. Ability to understand the motivation process of their employee is one of the key
competencies of a successful manager.  Meanwhile, as the business world has been
proceeding into the 21st century, "knowledge management” and “organizational
learning"” are two challenging aspects that a modern manager has to cope with.

(a) Choose two of your favorite theories of motivation process in the traditional
management literature. Describe, separately, their main ideas and basic
assumptions about human natures. Then, briefly compare and contrast the
similarities and differences between them. (13%)

{b) Among the two theories you chose above, which one is more suitable or adaptable
for the management practices in the present days, if the issues of "organizational
learning" and "knowledge management" are taken into consideration? Explain

and justify your answers. (12%)
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5. (5o MMBHY BT ERBESRS A Ay, Ko, BXARME T »
HERE(Y-1)']=0) +(uy -7’ °

6. (H /78 5 ") One-way ANOVA H1 > Y, =p+a; +5; i=Luy] j=1..,J >
(a)sF 3R o, H s, YRR -
P)FEHETEBREIRNE R RAHIME -
(c)#EH ANOVA 2 4% E - B E - 2Ff(2X) - BF BEHREE -
(dyEEY(c)z ANOVA A F A =@ Hh+taf Fhf fld
SST=SSt+SSE -

T(EPMES ) BEFETEAEREALE B oM ASE  FEET
5| P A

(a)4 F A —HARSHE X2 EH i &#(C.D.F) . £4 Y=F(X) > FHEAM
REBY225RAEREZMGHB Y SRR TETHL Y~U01)) -

(b)FmiE(@) SR Excel 24 —@an=50 = EEFErHEBES (X - FEHRE
Ay F R EMAE Excel R AL EHREBEEH#E) -

8. (BB S%) FLBEMARHE—LRABINER-AFIREIERATEM
FF2#iT -  AREGFERE - DAREBLEEEH BN ABEZATHER

 XERRRLFALH A 18AELSTHLT - HoMLERTH  EHER
EEGTEMNBERNIES -

FEAM | RREZETE FRELH | FEAN FRIEAR FRESH

(%) {tf ) {(#) (fF 7t)
2.0 4 5.1 5.0 6 4.3
3.5 4 3.5 6.0 2 2.9
8.5 2 24 7.5 2 1.1
4.5 6 4.0 4.0 4 2.6
7.0 2 1.7 4.0 8 4.0
7.0 2 2.0 1.0 4 5.3
2.0 4 5.0 5.0 6 4.9
5.0 2 3.2 6.5 6 5.0
8.0 6 5.2 1.5 4 3.9

() BFE—ELEY T LTI FRALKITES -
D)FEH@TERZRHARATH -
(C)fsttiE FEMERNES -
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R "EBISUR s (A Beautiful Mind) ol T 2REAARTHRER John Nash) B
BUCRVAET « TEREER F R/ TSRt A\ & A 3 SR
(Neoclassical Economics)f 84 » BHEFIEEMR A SIS EaRanse -
AR TR T RENES SO 5EEOEERARQRHEREG) T
AEMEA R IEL -

(1) Non-cooperative Nash Equilibrium

(2) Cooperative Nash Solution

(3) Baysian Nash Equilibrium

2.(154  E/NE S A
RRIFEATBARHE T S RARS, - 1R R 89 £ 8 F 30 B 2696 Kbe® - 1%
EEE THRSERRESE > HEBR—ARNE - R ENER A
EHSHEEIR /A - SMEEE TINE  §/MEC EEHTEN 100 E2 7 -
() BB TESHBRAE | CREYR

() TR R ) CEAEERNE -

3 TOBEEREAK | v ARG RFILED 5 E) -

3203 B 1 2/NER S B3/NE104)

PR B R T A — TR (Bernoulli utility function): u®) ="

A EE FFURRE -

(D) BEe R HARIBA = w =35, F5RY coefficient of Arrow-Pratt absolute LK
relative risk aversion BB ? .

() F— R B ER T FER(16,4; 0.5,0.5) (52] 16 2 4 Z #5918 0.5) -
AgaT B FEf b8k certainty equivalent -

(3) B USR A £5(36,16; 0.5,0.5), FHRIFEFIZ certainty equivalent #
URTEEEN? EATITIE— M R - -

4004 B/NE S 53)

The government provides a price support for crop at p’ (consumers buys as much as
they want and government guarantees it will buy as much as nécessary so that firms
can sell as much as they want at p' The govemment destroys all that it pu:chases.

(2) Bad weather causes the market supply curve to shlft to the left so that it is parallel
to the ongmal one, What is the effect of the > supply shock on market price and
quantity, deadweight loss, and total welfare if the government s price support is
still binding. :
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5.(10 43)

A monopoly publisher of a book pays its author a royalty equal to a fraction o times
the revenues from the sale of the book. Does the sum of the publisher’s prc;ﬁtm
the author’s ra;.;:_llty equal the monopoly profit that the publisher would make if it did
not have to pay the author’s a ro;ralty‘? Why or why not?

6,/(1545 : B 553)
o R

Consider a consumer with the following utility function U/(s,y)=4x*y*, where we

consider strictly positive quantities consumed of two goods X and Y.

(1) Find an expression for his/her marginal utility with respect to each of the goods.
What are these marginal utilities when he/she consumes 2 units of good X and 32
units of good Y? Interpret the meaning of your findings.

(2) Write out an éxpressioﬁ for this consumer’s indifference curve corresponding fo
/2 imits -of‘u‘tih't‘y. - -

(3) Let this consumer have a budget of $128 at his disposal. The market prices of X
and Y are $48 an_ﬁ $1 respectively. How miuch will he/she consume of each good?

7.£(15 53\ TEIANESS  E2/NE 0 g)
tld market for commercial aircraft is dominated by the two large

manufacturers, Airbus and Boeing. Suppose that the world (monthly) demand for a
standardized aircraft (e.g., a 767 type plane) is given by: P(Q) = 100 — Q, where Q =
q.+ G is total production with q, and g, being Airbus (A) and Boeing (B) production.
Assume that each company has constant unit cost of production of 25 and that any
fixed cost is entirely sunk. Throughout this problem, we assume that the two aircraft
manufacturers behave as Cournot duopolists.

(1) Find the equilibrium Cournot quantities, market price and firm profits.

Suppose that, using the fact that it is a government consortium, Airbus appeals 1o
the European Community (EC) to subsidize its production. Assume that it
succeeds in getting a subsidy of s pex plane produced so that its unit cost becomes
25 ~5.

(2) Under the assumption that it will internalize any increase in Airbus’ profits (that is
to say, it will maximize the net benefit of the subsidy scheme to the EC: increase in
Airbus’ profits less the amount of the subsidy), what is the optimal value of 57
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